

## CITY OF HOLLYWOOD DEPARTMENT OF DEVELOPMENT SERVICES

## PROPOSAL BID FORM

Project No.: EN-19-007

Project Name: FY2019 Sidewalk Construction & Miscellaneous Road / Rights-of-Way

Work

Account No.: TBD

IF THIS PROPOSAL IS ACCEPTED, THE UNDERSIGNED BIDDER AGREES TO COMPLETE ALL WORK UNDER THIS CONTRACT WITHIN 365 CALENDAR DAYS AFTER THE EFFECTIVE DATE ESTABLISHED IN THE NOTICE TO PROCEED WITH CONTRACT WORK. UNIT PRICE PREVAILS OVER TOTAL PRICE. All entries on this form must be typed or written in ink.

Payment to the CONTRACTOR shall be made on the basis of the Proposal bid items as full and complete payment for furnishing all materials, labor, tools and equipment, and for performing all operations necessary to complete the work included in the Contract Documents. Such compensation shall also include payments for any loss or damages arising directly or indirectly from the work, or from any discrepancies between the actual quantities of work and those shown in the Contract Documents, or from any unforeseen difficulties which may be encountered during the prosecution of the work until the final acceptance by the CITY.

The prices stated in the proposal include all costs and expenses for taxes, labor, equipment, materials, commissions, transportation charges and expenses, patent fees and royalties, labor for handling materials during inspection, together with any and all other costs and expenses for performing and completing the work as shown on the plans and specified herein. Unit prices used will be applied to the actual quantities furnished and installed in conformance with the Contract Documents.

The quantities for payment under the Contract shall be determined by actual measurement of the completed items, in place, ready for service and accepted by the CITY. A representative of the CONTRACTOR shall witness all field measurements.

No.	Description	Qty	Unit	Unit Price	Total				
NEV	V SIDEWALK								
Asp	Asphalt and Concrete Removal:								
1	Removal of existing asphalt to accommodate sidewalk	2,000	SF	\$1.00	\$2,000.00				
2	Removal of existing concrete sidewalks, concrete aprons, concrete driveways, etc.	1,500	SF	\$0.50	\$750.00				
3	Removal of existing curb & gutter	500	LF	\$1.00	\$500.00				
4	Removal of existing curb	500	· LF	\$1.00	\$500.00				
Reio	Relocations/Resets:								
5	Mail box relocation/reset	20	EA	\$10.00	\$200.00				
6	Traffic control sign relocation/reset	25	EA	\$10.00	\$250.00				
7	4'-6' high chain link fence removal/relocation/reset	150	LF	\$5.00	\$750.00				
8	4'-6' high wood picket/PVC fence removal/relocation/reset	150	LF	\$6.00	\$900.00				
9	Utility box reset	10	EA	\$50.00	\$500.00 ·				
10	Water valve boxes reset	10	EA	\$50.00	\$500.00				
Tree	Tree Removals:								
11	Palm Tree, 8" dia. or less	5	EA	\$50.00	\$250.00				
12	Tree, 4"-8" dia.	. 6	EA	\$75.00	\$450.00				
13	Tree, 8"-12" dia.	15	EA	\$100.00	\$1,500.00				

No.	Description	Qty	Unit	Unit Price	Total
14	Tree, 12"-18" dia.	2	EA	\$300.00	\$600.00
15	Tree, 18"-24" dia.	2	EA	\$400.00	\$800.00
16	Hedges	50	LF	\$5.00	\$250.00
_	crete:		-		
177	Installation of 4" thick concrete for sidewalks including clearing, grubbing, (hedge trimming, hedge removals, bush removals, misc. removals), excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified	45.000	0.5	\$3.40	\$51,000.00
17	Price di la compania	15,000	SF	\$4.40	\$1,320.00
	Installation of 6" thick concrete for sidewalks, driveways, driveway aprons, ramps, including clearing and grubbing, (hedge trimming, tree trimming, hedge removal, bush removal and misc. removal), excavating, backfilling, grading, compacting, sprinkler repair and detectable warnings for all ramps, etc. Work to be complete in place and as specified	000	SF	Ψ4.40	φ.,320.00
18	Installation of Type F Curb 9 Cuttor	300		#16.00	¢4 800 00
<del></del>	Installation of Type F Curb & Gutter	300	LF 	\$16.00	\$4,800.00
	Installation of Type D Curb	300	LF	\$14.00	\$4,200.00
	Type SP-9.5 asphaltic concrete surface course with RS-2 tack coat delivered and placed as directed, (thickness varies, maximum thickness 2")  Work:	2,000	SF	\$3.00	\$6,000.00
One	WOIR.		l .	\$0.50	\$750.00
22	Provide and install Argentine Bahia Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer	1,500	SF	φυ.ου	φ150.00
23	Provide and install Floratam Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer	25,000	SF	\$0.40	\$10,000.00
24	Provide and install Deep Root Brand root barrier. 24" wide and 12" high. Complete in place and as directed by the Engineer	20	ËΑ	\$20.00	\$400.00
25	Provide and install Deep Root Brand root barrier. 24" wide and 18" high. Complete in place and as directed by the Engineer	20	EA	\$25.00	\$500.00
26_	Provide and install Deep Root Brand root barrier. 24" wide and 24" high. Complete in place and as directed by the Engineer	20	EA	\$30.00	\$600.00
27	Provide and install Deep Root Brand root barrier. 24" wide and 36" high. Complete in place and as directed by the Engineer	20	EA	\$30.00	\$600.00
REM	OVAL AND REPLACEMENT OF EXISTING SIDEWALKS				
Aspl	nalt and Concrete Removal:				
28	Remove and replace existing concrete with 4" thick concrete including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, grading, sprinkler repair and sod restoration	50,000	SF	\$3.50	\$175,000.00

No.	Description	Qty	Unit	Unit Price	Total
			,	\$4.50	\$45,000.00
29	Remove and replace existing concrete with 6" thick concrete in driveways and ramps, including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, compacting, grading, sprinkler repair, sod restoration and detectable warnings, for all ramps, etc. Work to be complete and in place as specified	10,000	SF		
	Work:	10,000	- 31		<u> </u>
				1	<del></del>
30	Removal of tree roots under sidewalk, transport from site	20,000	SF	\$0.25	\$5,000.00
				\$15.00	\$11,250.00
31	Importing limerock, including the cost of placing, grading, compacting, etc. in locations as directed by the Engineer	750	CY		
32	Prime coat over limerock in preparation for asphalt, where necessary	100	SF	\$1.00	\$100.00
	-			\$15.00	\$3,750.00
33	Importing clean fill, including the cost for placing, grading, compacting, etc., as directed by the Engineer	250	CY	,	127, 35103

New	Ramps:				
34	Removal of existing asphalt to accommodate new ramps	100	SF	\$1.00	\$100.00
35	Removal of existing curb & gutter to accommodate new ramps	100	LF	\$3.00	\$300.00
36	Removal of existing curb to accommodate new ramps	100	LF	\$3.00	\$300.00
				\$4.50	\$11,250.00
37	Installation of 6" thick concrete including clearing and grubbing, miscellaneous removals excavating, backfilling, grading compacting, sprinkler repair and detectable warnings, etc. Work to be complete in place and as specified	2,500	SF		
38	Installation of 4" thick concrete including clearing and grubbing, miscellaneous removals, excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified	1,000	SF	\$4.00	\$4,000.00
	noval & Replacement of Existing Ramps:	1,000		<u>.l.</u>	
39	Remove and replace existing concrete with 6" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, detectable warnings. etc.	500	SF	\$4.90	\$2,450.00
40	Remove and replace existing concrete with 4" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, etc.	. 250	SF	\$4.00	\$1,000.00

## GENERAL MAINTENANCE / MISCELLANEOUS ROW WORK

Concrete and Asphalt:					
41	Concrete, 3,000 psi	500	CY	\$113.00	\$56,500.00
42	Installation of Type F Curb & Gutter	300	LF	\$16.00	\$4,800.00

No.	Description	Qty	Unit	Unit Price	Total		
43	Installation of Type D Curb	300	LF	\$14.00	\$4,200.00		
44	Pavement repair, sawcut existing asphatl and install FDOT Type SP-9.5 superpave asphalt concrete pavement,	100	TON	\$180.00	\$18,000.00		
44	including tack coat	100	TON	\$1.00	\$1,500.00		
45	Cold asphalt patch, thickness varies, maximum 2"	1,500	SF	\$3.00	\$4,500.00		
	Hot asphalt patch, thickness varies, maximum 2"	1,500	SF	\$3.00	\$4,500.00		
יווע	eways:			\$3.50	\$5,250.00		
47	Rremove existing pavers, adjust upper layer and one (1") sand layer, reinstall pavers	1,500	SF	φ3.30	\$5,250.00		
48	Existing gravel driveway restoration (add and regrade driveway)	1,000	SF	\$2.50	\$2,500.00		
49	Remove and replace existing 4" thick concrete driveway	1,000	SF	\$3.50	\$3,500.00		
50	Remove and replace existing 6" thick concrete driveway	1,000	SF	\$4.50	\$4,500.00		
51	Remove and replace existing stamped concrete driveway	1,000	SF	\$6.50	\$6,500.00		
52	Remove and replace existing specallty material driveways	500	SF	\$7.50	\$3,750.00		
	Fence:						
53	4'-6' high chain link fence removal/relocation/reset	150	LF	\$5.00	\$750.00		
	4'-6' high wood picket/PVC fence removal/relocation/reset	150	LF	\$6.00	\$900.00		
			ГА	\$400.00	\$800.00		
55	Concrete pump (per use)	2	EA EA	\$400.00	\$1,200.00		
56	Maintenance of traffic for local streets (per up)	3	EA	\$3.00	\$1,500.00		
	Raised concrete sidewalk grinding Raised sidewalk leveling with asphalt (temporary repair), per location	500	LF EA	\$100.00	\$5,000.00		
58 59	Swale regrading	1,500	SF	\$1.25	\$1,875.00		
60	Traffic control sign, replace existing, comply with BCTED standards	10	EA	\$160.00	\$1,600.00		
61	ADA Detectable warning applied surface, FDOT approved	20	EA	\$145.00	\$2,900.00		
62	Traffic control sign, new, comply with BCTED standards	10	ΕA	\$375.00	\$3,750.00		
63	6" white or yellow pavement markings, paint, comply with BCTED standards	1,000	<u>L</u> F	\$1.00	\$1,000.00		
64	6" white or yellow pavement markings, thermoplastic, comply with BCTED standards	1,000	LF	\$2.00	\$2,000.00		

No.	Description	Qty	Unit	Unit Price	Total
65	24" Stop bar, paint, comply with BCTED standards	6	EA	\$100.00	\$600.00
				\$250.00	\$1,500.00
66	24" Stop bar, thermoplastic, comply with BCTED standards	6	EA		
				\$80.00	\$800.00
	Pavement marking symbols & letterings, various (maximum		37		
67	70 SF in size), paint, comply with BCTED standards	10	EA		
	Pavement marking symbols & letterings, various (maximum			\$250.00	\$2,500.00
	70 SF in size), thermoplastic, comply with BCTED standards	10	EA		
69	Owner's Contingency	1	LS	\$30,000.00	\$30,000.00

BASE BID TOTAL

\$524,545.00

FIVE HUNDRED TWENTY FOUR THOUSAND FIVE HUNDRED FOURTY FIVE DOLLARS AND ZERO CENTS

TOTAL BASE BID IN WRITING

OMBILC

03/06/2019

CONTRACTOR COMPANY NAME

DATE